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1. Use linear regression to estimate the missing values x, y, and z.

(a) Do this problem on your Tl calculator.

Regression Line Equation: ﬂ = 4013142857 x+42). Lo | 4z9
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(b) Do this problem using Desmos.

Regression Line Equation: j: 4p, 1914 X + 1421.6

Correlation Coeffluent 0.9€1
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2. What makes your “line of best fit” above the BEST BEST FITTING choice? Be specific.
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3. In the example above,

(a) you use INTERPOLATION to find which value(s)? %

. . 5
(b) you use EXTRAPOLATION to find which value(s)~ X MLA Z



